
 

 

  

  

 

 

 

 

 

 

 

 

 

 

 

 



 
 
 
 

 

 

 



 
 
 

  

 

 

 



 
 
 
 

 

 

 



 
 
 

 

 

 

 

 

 

 

 

 

 

 

 



 
 
 
 

 

   

 
 

 

   
 

 

 



 
 
 
 

 

 
 

 

 

 

 

 

 

 



 
 
 
  

 

 

  

 

 

 

 

 

 



 
 
 
 

 

  

 

 

 

 



 
 
 
  

 

 

 



 
 
 

 

 

 

 

 

 

 



 
 
 
  

 

 



 
 
 

 
 
 

 

 

 

 
 

  

 



 
 
 
  

 

 
 

 
 

 

 

 

 

 



 
 
 
  

 

 
 

 

  

 

 

 



 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 
 
 

 

 

  

 

 

 

 

 

 

 

 

 

 



 
 
 
 

 

 

 

 



 
 
 

 

 

 
 
 
 

 
 
 
 
 

 

 

 
 

 

 

 

 

 



 
 
 
 

 

 
  

 

 

 



 
 
 
 

 
  

 

 

 

 

 
 

 

 

 

 

 

 

 



 
 
 
 

 

 

 

 

 

 
 

 

 

 



 
 
 

 

 

 
 

 

 
When children start to multiply 3d × 3d and 4d × 2d etc., they should be confident with the 
abstract:  

  
To get 744 children have solved 6 × 124. To get 2480 they have solved 20 × 124. 
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